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Solving Sequence

Ideals for irreducible component#ﬂ)f Xpar

I = (u'® —u = 5u® + 5u'? + 7utt — 9ut + 7u® — u® — 2507 + 17u® + 9u® — Tut + 17ud — 130 + 4b — 2u — 4
—u® 4 6ut 4t da—4, w20+ u2)

w_ /_,4_ .3 2 ! 2 _ 6 _ q,4 2

Iy=(—u"—vw+u"+b+u, —uv" +2u"+a—-1, v’ —3u" +2u”+1)

I={(a®+ba*+a—1,u+1)

* 3 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I

It = (u'S—u'*4-.-+4b—4, —u'®+6u'®+..-+4a—4, u'®—2u'5+

(i) Arc colorings

ayp =

(
(
(
(
az = (—u9+31f7—3u5+u
( _3
(
(
(
(

ub —3ut +2u? 41
ag = u® — 2ut + u?
1,13 _ 5,11 3
aro = \fu'® — 208+ — 2w+ Lu
,%u15+lu14+.. +£u+2
ag = %uw 1u14+.”7%u7%
<_§ul5+i“14+"'+1“+2>
= 1515 _ 1,14 1 1
(ii) Obstruction class = —1

.. -—|—u—|—2)

(iii) Cusp Shapes = —2u'® + 12u!? — 2012 — 28u! + 10u!® + 20u® — 18u® + 28u” +

10u8 — 52u® + 6u* + 10u® — 6u? + 16w + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u® +3ul® + - — 163u + 62
C2 ul® 4+ 29ut + ... + 16707u + 3844
c3,C8 u® —ul® 4 4 14u+5
€4 u'® +5u® £ — 6u+ 67
Cs5, C10 u'® —ur® 4 £ 8u+5
c7,C11 ul® +2ut® + o w42
Co ut® —ut® - 28240 + 1117




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
¢1,Co y16 + 29y15 + -+ 16707y + 3844
o y® — 75y + ... 4+ 939185823y + 14776336
C3,C8 y'® +27y"% + - — 96y + 25
s y16 + 19y15 + -+ 15374y + 4489
Cs, C10 Y=y 4+ — 64y +25
c7,C11 Yt =12y 4+ 419y 4+ 4
Co Y0 + 51yt + ... — 7186374y + 1247689




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.077517 4+ 1.0055401
—1.07927 — 1.295431
—0.62616 — 1.567031

—15.2325 4 4.46441

1.08918 — 2.213871

= 0.077517 — 1.0055401
= —1.07927 4 1.295431
= —0.62616 + 1.567031

—15.2325 — 4.46441

1.08918 + 2.213871

= 0.170392 + 0.7712881
= —0.408921 + 1.0212501
= —0.482279 + 1.1045401

—4.05827 — 0.493001

—0.617664 + 0.2145341

= 0.170392 — 0.7712881
= —0.408921 — 1.0212501
= —0.482279 — 1.1045401

—4.05827 + 0.493001

—0.617664 — 0.2145341

= 1.160690 + 0.4071511
0.600692 — 0.6582081
= —1.126220 — 0.7987211

—1.06445 + 4.803701

3.93778 — 5.082041

1.160690 — 0.4071511
= 0.600692 + 0.6582081
= —1.126220 + 0.7987211

—1.06445 — 4.803701

3.93778 + 5.082041

= 1.293170 + 0.1558221
= —0.056229 + 0.7863741
= 0.86906 + 1.535681

5.01976 4 2.828491

13.14002 — 4.042751

1.293170 — 0.1558221
—0.056229 — 0.7863741
0.86906 — 1.535681

5.01976 — 2.828491

13.14002 + 4.042751

1.269320 + 0.5453221
= —1.162000 — 0.3098741
—0.241796 + 0.7808061

—11.56800 +- 1.024071

3.53875 — 0.897241

1.269320 — 0.5453221
= —1.162000 + 0.3098741
= —0.241796 — 0.7808061

—11.56800 — 1.024071

3.53875 4 0.897241




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —1.374820 + 0.2540491
—0.397419 — 0.2208311
0.02694 — 1.605211

0.90149 — 3.131681

3.23299 4 2.681951

—1.374820 — 0.2540491
= —0.397419 + 0.2208311
= 0.02694 + 1.605211

0.90149 + 3.131681

3.23299 — 2.681951

= —1.37116 4 0.472031
0.424287 + 1.0670101
= —1.31943 + 2.034841

—10.6907 — 9.73051

4.40505 4 4.745161

—1.37116 — 0.472031
0.424287 — 1.0670107
—1.31943 — 2.034841

—10.6907 + 9.73051

4.40505 — 4.745161

—0.225111 + 0.3253131
1.32887 — 1.403251
0.399881 — 0.3309601

0.504151 — 0.9973251

7.27390 4 6.884071

—0.225111 — 0.3253131
= 1.32887 4 1.403251
= 0.399881 + 0.3309601

0.504151 + 0.9973251

7.27390 — 6.884071




(T 4 3 2 4 2 6 4 2
. = “+ + b+ y “+ y

(i) Arc colorings

ag =

ayq =

u® — 3ud + 2u

wd +ut —2ud —2u2 +u

—ut —ud + 20+ 2u+ 1
wb + vt — 2u3 — 3u?

—ut —uwd+2ut +2u+1
ag =

(
(
(
(
(
(
(
(
(

ub 4+ ut — 2u3 — 3u?
(ii) Obstruction class =1

(iii) Cusp Shapes = —4u? + 8u? +4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq w +ut + 2% +1
C2 (u 4+ u® + 2u + 1)?
03,05,68 (u2 +1)3
C10
C4 ub + 4u® 4+ 11u* + 10u® + 8u? + 2u + 1
c7,C11 u —3ut +2u% +1
Co u® —2u° —ut +8ud + 12u% + 6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, ¢ (v +y* +2y+1)°
© (y° +3y° +2y —1)°
03,05,68 (y+1)6
€10
€4 y® 4 6y° + 57y + 62y + 46y + 12y + 1
7, C11 (y° — 3y* + 2y + 1)?
Co Y% — 6y° + 57yt — 62y° + 467 — 12y + 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u= 1307140 4 0.2150801
a= 0.122561 4+ 0.7448621
b= 1.52978 + 2.184581

3.02413 4 2.828121

7.50976 — 2.979451

u= 1307140 — 0.2150801
a= 0.122561 — 0.7448621
b= 1.52978 — 2.184581

3.02413 — 2.828121

7.50976 + 2.979451

u = —1.307140 4 0.2150801
a= 0.122561 — 0.7448621
b= 0.040058 — 0.4297021

3.02413 — 2.828121

7.50976 + 2.979451

u = —1.307140 — 0.2150801
a= 0.122561 4+ 0.7448621
b= 0.040058 + 0.4297021

3.02413 4 2.828121

7.50976 — 2.979451

U= 0.5698401

a= 1.75488 —1.11345 0.980490
b= 0.430160 — 0.7548781

U= — 0.5698401

a= 1.75488 —1.11345 0.980490

b= 0.430160 + 0.7548781
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III. I = (a®* 4+ b, a®*+a—1, u+1)

(i) Arc colorings

o= (o)

ail =

|
o

N N N N~

ag =

ayp =

| | | [
0 o QL L o

S Q Q IS
= [«2) - ot
o
oo
/—\/—\/—\/O\H/\/—\/—\/—\/—\/—\/—\
N——
[
N——

=]
©
\

S
©
|

(ii) Obstruction class = —1

(iii) Cusp Shapes =6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy

c1,¢2,Co u?

C3,Cs5,C8 u3+u—1

Cg, C10
C4 W2 tu+1
3
Cr,C11 (u — 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq yg
Cc3,Cs5,C8 y3+2y2+y_1
Cg, C10
= y® —2y* + 5y —1
7, C11 (y— 1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
u = —1.00000
a = —0.341164 + 1.1615401 1.64493 6.00000
b= 1.23279 + 0.792551
u = —1.00000
a = —0.341164 — 1.1615401 1.64493 6.00000
b= 1.23279 —0.79255]
u = —1.00000
a= 0.682328 1.64493 6.00000
b= —0.465571
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C6 wd (ub + ut 4 20% 4+ 1) (u'® + 3u'® + -+ — 163u + 62)
C2 wP(u® 4+ u? + 20+ 1) (u' + 29u'® + - + 16707u + 3844)
c3, C8 (v 4+ 1)) +u— 1D (u® —u® 4+ + 14u 4 5)
cy (u® — 2u® +u + 1) (u® + 4u® + 11u* + 10u® + 8u® + 2u + 1)
(u'® 4 5u® + - — 6u + 67)
¢s, C10 (W + 1) (u® +u—1)(u'® —u'® +-- +8u+5)
7, C11 ((u—1)*)(u® = 3u* +2u® + 1) (u'® +2u® + - —u +2)
Co (u? +u— 1) (u® — 2u® — v + 8u® + 12u? + 6u + 1)

] (ulﬁ — w4 28240 + 1117)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ Py oyt + 2y + D2y +299"° + .- 4 16707y + 3844)
c2 v (y® +3y° + 2y — 1)
- (y*® — 75y 4 - -+ + 939185823y + 14776336)
c3, 8 (y+ D) (W2 + 202 +y — 1) (6 + 279" + - - - — 96y + 25)
Ca (y° — 2y% + 5y — 1) (y° + 6° + 57y + 62> + 46y + 12y + 1)
(y*® 4 19y + - -+ 4+ 15374y + 4489)
¢35 C10 (y+ 1) +20° +y - (' =y + - — 64y + 25)
cr, e (y =D =3y* + 2y + 1)*(y"° — 129" +--- + 19y + 4)
Cy (y3 + 2%y — 1)(y6 — 6y° + 57yt — 62y + 46y% — 12y + 1)

) (ylﬁ + 51yt + .- — 7186374y + 1247689)
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